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David Ricardo illustrated the comparative cost theory in 1817 by using a
(1) Two country, two commodity model '
(2) Two country, one commodity model

(3) Three country, two commodity model

(4) None of the above

shrg Tl 181?ﬁgaﬂmfﬁam%@ﬁuﬁtrr&aaﬂ%w?@m
() @ 9, q aF A

2) T N, TH qG "

() o 1, @ aFg W

ST 1 T

In the Hecksher-Ohlin theory of international trade, factors of production are
(1) Perfectly mobile within each country and also between countries
(2) Perfectly mobile within each country but immobile between countries
(3) Immobile within each country but perfectly mobile between countries
(4) None of the above

WW%Wmﬁmﬁ IARA % G §

0y et e — 2l % 9w 2 F T

(2) i % wem ola: eriaiiE o g7 A gl wigele

() w F ot sl g <l & WA LU GHRICHICH

@) wudE B A8

Trade measures for correction of balance of payments disequilibrium include

(1) Export promotion (2) Import control

(3) Both (1) and (2) (4) Import substitution
Wsﬁmaﬁ&mmﬁ%@mﬁiﬁwﬁ@r&ﬁa%
(1) e dagd (2) o s

3) ()T () (4) o wRwem
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Duties which are levied as a fixed percentage of the value of commodity
imported/exported are known as \

(1) Compound duties 2) Ad—va]orem. duties
(3) Transit duties (4)  Specific duties _
HEATT &

(1) i ges (2) TR S e
(3)  WhwT Fh @) Tafre g

Simultaneous buying and selling of foreign currencies, with the intention of
making profits from the differences between exchange rates prevailing at the
same time in different markets is known as

(1) Hedging (2)  Arbitrage
(3)  Swap operation {4) Reimbursement

%ﬁmwﬁﬁwﬁww%ﬁﬁﬁﬁwwmﬁ%%a&w@
Hﬁtﬁ%aﬁgmwmfﬁmaﬁmu—maﬁwmﬁ‘rwaﬁmﬁ% :

(1) whaan (2) frama
(3)  Tufrrr @ (4)  gvma

The intemational'monetary system introduced by Bretton woods rested on
(1) The maintenance of stable exchange rates

(2) A multilateral credit mechanism institutionalised in the LM.F.

(3) Both (1) and (2) |

{(4) the principle of gold standard

fire gea & water i e e @ R SR

(1) fafer o & Rax o9 <@

(2) HEAUE. T v TgeiE 9w o

(3) (1) T (2) <=

(4) Wi fagr
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The rate of tariff beyond which any further gain {rom an improvement in the
terms of trade will be more than offset by the related decline in voluime 15

(1) Effective tariff (2) Maximum tarifl
(3) Optimum tarift (4) Real tanff

qgﬁﬂ%ﬁ%ﬂﬁﬂ%ﬁwaﬁﬂwﬁrsﬁﬁﬁwﬁﬁaﬁmwwm{aﬁ
wﬁﬁm%waﬁ?ﬁma’rwm@aaﬁm%

(1) wardr 96 (2) afuemdd WYeR
(G) orpaTd WYEH 4 amf%l?ﬁugu—cﬁ

According to Human Development Report 2000 India's rank in terms of
human poverty index 1s

M 4oth
(2) sgth
(3) 70%
4y 64

W%Wg%&aﬁzoooasmuﬂwmﬁaﬁeﬁ_@wﬁﬁmwm
WA %

(1) 494
(2) 584
() 704l
4) 647

According to Dr. C. Rangarajan nCommittee on Financial Inclusion (2007)
What percentage of rural population in India holds Bank Account ?

(1) 18 percent (2) 24 percent

" {3) 31 percent (4) 40 percent

& & CrER @ (2007) @ R wﬁaﬁ”y&rﬁr%mw{ﬂw%’f
f%meruf‘cwﬁtrrt?maﬂﬂwﬁsa‘iﬁ@ﬁ% ?

(1) 18 widee (2) 24 vlayd
() 31 wfesT (@) 40 yiiE
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(1) VI Five year plan (2)  VII Five year plan
(3} IX Five vear plan (4) X Five year plan

W%%wmmwmmmaﬁw%
(1) VI 99 =¥ gremr (2) VI v gff7 G
(3) IX b9 guty Gy (4) X vu o g

The plan outlay for irrigation sector to total plan outlay in India was
highest in

Which method was followed by the Direct Tax Enquiry committee for
estimating black incomes ?

(1}  Edgar L. Feige's method
(2) Kaldor's method
(3) Minhas method

{4) None of the above

T & S R T F A @ e wmy % R fea Ry oy
a7

(1) TR ua. & fafy
(2) weRR fafy

('3) e fafy

(4) Swda @ v

Which committee recommended tax on Agriculture Holdings ?

(1) Bhootlingam committee (2) Raj committee

(3)  Wanchoo committee (4) None of the above
B S 9T 9 A Rewfeor e whify g @ g

(1) wgfe™ afufy 2) Uw Giffy

(3) =g afr @) wuded w T
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13 New Industrial Policy related to

(1) MRTP (@) Industrial Licensing
(3) Foreign investment (4) Al of the above
w3 eheifivs e watad §

(1) . R AW @) oo wEaRe
) TRl FEw (4) wug |

14  According to Banking Regulation Act, RB.I can fix SLR up to the
ceiling of

{1) 40 percent
(2) 50 percent
 (3) 30 percent
(4) 45 percent

%WW%WW.&.W.mmw.w.m.ﬂm
wY T FhAl ©

(1) 40 wiae@
2) 50 wfqe@
(3) 30 wiae@
4) 45 vk

i3 IfZ=5 and X =5 then the value of median will beh

(n 3 2) 8
(3) 10 (4)  Zero

X Z=5qd X=5 8 @ THR w1 g e
s @ 3
(3) 10 @) T

o™
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6 Two ogive curves are drawn to find out the value of

(1) Mean (2) Mode

(3) Median (4) None of the above

(1) meg (2) wEE®

(3) wemH @) S w
17 In case of a symmetrical distribution

(n Mean = median = mode

{2) | Mode - 3 median -2 mean

(3) Mode/median = mean

.(4) Mode-mean = median

Fr formww @ < A g ¥

(1) =rer = qem = sgas

(2) WEAH = 3 wemE 2 Mg

(3) UgeH/mETH = A

(4) UEWH - A — [
18  Harmonic mean of 400, 100 300, 200 is

(1) =252 @ = oo

3) =192 @ -:(250)%

400, 100, 300, 200 @I TUFH WA $

1y —252 @ =i

3 =192 . 4) = (250)2
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The correlation coefficient lies between

(1) -1 and +1 (2) 0 and +1
(3) 0 and -1 (4) +1 and +2
(y -1d+H (2) 0™+
() 09 —1' (4 +1¥+2

Which of the following is a positional average
(1)  Arithmetic mean

(2) Geometric mean

(3) Median

{4) Harmonic mean -

frer % 4w Raf T ¥

(1) THAFIC T

(2) TR "I

(3) HEHDBL

(4) TOEED W

‘In any pie chart, the sum of central angle is

(1) 90 degree (2) 180 degree
(3) 270 degree - 4) 360 degree
et g P W T A @ WY

(1y 90 felr ) 180 Rl
Gy 270 R i (4) 360 Tl
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~ 22 The mean of a certain number of observations is 50, If three numbers 70,
60 and 65 are added to this data the mean rises to 55. Find the no. of items
in original data

(1) N=6
2) N=10
(3) N=14

&1 U1 W O

(4) None of the above

@mﬁﬁsaaiaﬁanammwso%izrfaeh——reimm,ﬁoamess:fms |
o wie fear s o me sge 55 & s @ | UW SRS el @ T
A BINTT

() N=6¢
2) N=10
3) N=14
@) T

23 An example of "Positive economics' analysis would be

(1} An analysis of the relation between the price of food and the quantity
purchased

{(2) Determining how much income each person should be.gnaranteed
(3) Determining fair price for food

(4)  Deciding how to distribute the ou.tput of the economy
areifacs erefsrer frsewor @ Sewwor g

(1) @™ e o %7 we % " way a1 Ryedwo

(2) wd% @R F fe ae Priveg e aen @ frgio
(3) ww & St gwr & Frafo

(4) ownfarmeEn & SOET B B9 ReRa Rear s
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24 When demand and supply both increase in the same proportion
(n Equlhbnum quantity remains unchanged
(2)  Price increases '
(3) Equilibrium price remains unchanged
(4) Quantity Idecrea_ses
i g R WA ouE ¥ W W
(1) ura erfaRia T §
@) e o ¥
G) o e suEra w S
@) "o ¥ @l R

35 The study of the theory of a firm is an example of
(1) Macro Economics (2) Micro Economics

(3) Non Economlcs activity  (4) Business Activity
w & fagr @ ST T B

(1) oo e ' @) = s

(3) emnds fE | (4) =C RRE

26 . In long run, equilibriurn of a firm in perfect competition would be

(1) AC>AR>MC>MR

() AC <AR <MC<MR

3) AC = AR and MC > MR

(4) AC = AR = MC = MR

o sl ¥ defm & o % W @ oren A

(1) AC> 'AI__{I> MC > MR

(2) AC < AR <MC < MR

(3) AC = AR and MC > MR

(4) AC=AR=MC=MR
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In ordinal utility theory, utility is

(1) Not expressed in absolute units

(2)  Expressed in absolute units

(3} Expressed as elasticity of supply
(4) Expressed as elasticity of price
st 3 b Resr ¥ SudtE
(1) Prode s § 7% wew ady &

(2) TRUE s § oy ot

() it & & o O 2

@1 &1 O & G

(4 BT wE o el

Choose the correct formula for marginal rate of technical substitution
(1) MRTS = MP; + MP (2) MRTS = MP; / MPy

MRTS = Price of Capital

(3) MRTS = r/w (4) -
- Price of Labour

Wﬁ%@wwﬁwwat%aﬁrq\srmwzﬁ
(1) MRTS = MP| + MP, (2) MRTS = MP| / MPy

3 = S _—_—
(3) MRTS = r/w (4) MRT

A pareto optimal organisation is one in which
(1) Economic efficiency prevails _
(2)  Any reorganization keeps the utility of all individuals unchanged

(3)  Any reorganization that augments the utility of the individual necessarity
reduces utility of another

(4)  Both (1) and (2)

A orfqerm wTeT @ ¥ Rred

(1)  onffr parran 21 3 |

@ Rl o et & woh =it o swif smRaRi el 3

(3) ﬁﬁﬁﬁm%wﬁmw;ﬁﬁrwwﬁﬁaﬁw&mﬁ%éﬁr
T @ Red o Y s § e e W 3

4 ()ud (2) ¥ |
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30 In the classical theory of employment, average propensity to consume was
assumed to be
(1) Equal to one (2) Less than one
(3) More than one | (1) None of the above
A 3 e g ¥ afvee ST R A T %
(1) 3%% & IJAR @) THE A B
) T & ot @) e W
31 Aggregate demand curve can be raised only by pushing up the level of
{1) Employment
) Savings
(3) Investment
(4) None of the above
a T A a8 < wwa oW o W 9o
(1) ST
(2) Iaaa i
(3) Tafegior o
@) wwdw W T
32 According to Keynes, consumption is a function of
(1) Investment (2) Saving
(3} Income (4) Capital
W ¥ TR, ST W &
(1) Tafmm @ (2) wad @l
(3) o W 4y qsir @
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33 According to Quantity theory of% money fisher's Equation is

(- MVi=MV,=PT 1 (2) M, Vi+M,V,=PT
3) M|V, <M,V,<PT 4) M;V,>M,V,>PT
931 & 9t fear ¥ e Rrew adieor &

(1) MV, =M,V,=pT (2) M;V,+M,V,=PT
(3) M|V, <M,V,<PT @ M|V, >M,V,>PT

34 In an economy the actual level of income is Rs. 500 crores where as the full
employment level of income is Rs‘i 800 crores. The MPC is 0.75. Calculate
the increase in investment to achiéve the full employment level of income

(1} 300 crores (2) 200 crores

{3) 100 crores (4) 75 crores

wmﬁammﬁemaﬂwﬁmﬁwsooaﬁga%maﬁsqﬁﬂwm
T 800 wlE 5. & tMPC 0.75 & a@mex & 1 R % gfs @) e i,
gl TN A WL Y

(1) 300 B3 @) 200 T
(3) 100 &= (@4) 75 &l

35 Philips curve shows
(1) lnver_se’ relation between real iand nominal wages
(2) Inverse relation between rate pf nflation and rate of unemployment
(3)  Positive relation between nominal wages and rate of unemployment

(4)  Positive relation between rate of inflation and nominal wages

fsRrr 9 qurfar 2

(1) =l od 9w ¥ faeim ey

2) Waﬁﬁfﬂ@éﬁwﬁﬂﬁfﬁﬁhm
(3) éwqﬁéﬂwﬁﬂﬁfﬁwm

(4) T W & ud 99 F Oy qegey
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38

In casé of l“i.q'uidity trap, which of the folloWing policy is highly effective ?
(1) Monetary policy (2) Interest rate policy

(3) Fiscal policy (4) Both (2) and (3)

FTEEl o W e =-‘|’rF‘d FTEl W § 7

(1) e A (2) =W Hia

(G) <R AR 10 it (2) T (3)

Public goods are characterised by
(1) Non rivalry

(2) Non excludability

(3) Both (1) and (2)

(4) Neither (1) and (2)
e aegel @ e §

(1) e whvden |

@) Tty

() & (1) F&(2)

@) (1)@ (2) < &l

The provision of public goodé and services is termed as
(1) Fiscal function (2) Distribution function

(3) Allocation function (4) Stabilization function

(1) oY He (2) Taaton B

(3) e He (4) T o
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Which of the following is not a direct tax 7

(1) Tax on income (2) Tax on wealth

(3) Tax on expenditure {(4) Tax on entertainment
PR TTH Y T R ?

(1) 3 9¢ &% (2) WU W w

(3) =™ 9T @Y (4) HAHET 9T @Y

Zero based budgeting lays emphasis on

(I} Unlimited deficit financing

(il) Preparing new budget right from scratch _
(Ill) Preparing the budget neglecting history of expenditure
() LIL I (2) 1 and III

(3) 1and I (4) land I

T e Iofen wea A ¥

V) odife o2 o R arawn

() 9% ¥ -EF 95 @1 Py

(1) @ﬁﬁﬁ&?ﬁm?ﬁsﬁsm?ﬁrﬂmu&gqqmdﬁmTW

() LILII 2) g m

(3) Iwer Il (4) Taarll

The chakravarty panel recommended

(1) Zero rate of inflation (2) 8 percent rate of inflation

(3) 4 percent rate of inflation (4) Negative rate of inflation

IS T B Rewifcer o
(1) 9 ®ify & 909 ox (2) 8 wivew Tur wiifer
(3) 4 Wi gR @ity (4) R ET i

&1 G G Q1 W
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42

43

44

The base year in the new series of wholesale price index (WP1) has been
shilted from 1970-71 to '

{1y 1980-81 (2) 1981-82

() 1983-84 - (4) 1984-85

2Ty T YA (WPI)a%wmerﬁ?m%s{@m 1970-71 A fags &
Gar B

(1) 1980-81 (2) 1981-82

(3)  1983-84 (4) 1984-85

‘The chelliah committee was formed

(1) To suggest reforms in Income - Tax

2y To suggest' reforms in Indirect - Taxes

(1) To estimate level of black money and study allied matters
(4) None of the above

Hfvren aifs @ T FA U

(1) amamY ¥ gur g

(2)  ovE H H guR ¥

(3) F@ U W T qg IEY |3 YR W AW

(4) TIES HE T

Fconomic development as a concept is mofe relevant for

(1) Developed countries (2) Under developed countries
{3) Asian countries (4) None of the above
i A T onfi TR v € ¥

1) e B R () ot o %
(3) ufira 3 & fg (4) SUgHd @ T
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In Harrod's model of economic growth Ga is actual growth rate, Gw is
warranted growth rate and Gn is natural rate of growth. Steady rate of

3
growth is ensured when
(1) Ga=Gn (2) Gw = Gn 5
(3) Ga=Gw 4) Gw>Gn | 5
%ﬂg%ﬁﬂfﬁ%ﬁmqﬁﬁﬁGaﬂRﬁﬁiﬁ%ﬁﬁmﬁ%,Gwﬂﬁﬁﬁmﬂﬂ

%HmGn-mWﬁmmﬂ%lﬁwa%ﬁm%mﬂgﬁr&aaﬁws_

(1) Ga= Gn (2) Gw= Gn 5 -

- (3 Ga=Gw 4) Gw > Gn

46

47

in Domar's model

(1) Investment is needed to increase the demand as well as supply
(2) The cléssical economics is completely rejected

(3) The keynesian economics is completely rejected

(4)  There is great emphasis on increasing the capital outpu: ratio
T Tiew #

(1) = o 9ff & wow % frg Rt % simvama &

(2) Feiih eredamer @ Of aXE wwra

(3) wrg & wdamer B T T T 3

4) Yh-Sam MU B @Y w aw fon

Critical minimum effort thesis js given By

(1) Ricardo (2) Leibenstein

(3) Nurkse (4) Marx

IS AdT ware Rigr, Rar

(1) Rast ¥ 7w 2) feRt= & ara
(3) T g @ w7
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Who propounded theory of ‘immersizing growth 7

(1) J. Bhagwati - (2) Sukhamay Chakravarty
(3) R. K. Hazan (4) None of the above.
i af fom R aRw R ?

(1) &, e (2) gty kel

3) et %, wml @) oude B @

The idea of 'Big Push theory is associated with

(1) - Economic development with unlimited supplies of labour
(2) Theory of unbalanced Qowth

(3} Theory of balanced growth

{4) None of the above

(1) mﬁ[mﬁﬁarﬂ%{amaﬁiﬁ%m

2) amﬁﬁ“rlﬁfgﬁﬁiﬁlfé@ﬁ

3y wgwa ghe @ faerd

(4) THdE B T

Harrod-Domar model had kuife edge problem, how did R.

Solow eluminate it 7
(1) By assuming perfect substitutability between inputs of production

(2) By assuming full employment

" (3) By making saving constant

(4) By making capital - output ratio variable

W—Wﬁwﬁﬁwamﬁw.@a‘r%ﬁwaﬁgﬁm

() S el B qol WAl Bl BT

@) U TR @ AEL
3) et @ Rew T@ET
(4) q-waE FIE B afadaeia @
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I Ithe current growth rate persists in China and India, the two nations will 5
account for roughly half of global output by

(1) 2010 (2) 2040 5
(3) 2050 (4) 2060
A T G W A T e ¥ e A @ A A e e e 5
BT e e 9 0w sa e @ @ 5
(1) 2010 () 2040
(3) 2050 4 2060 | 5

52 In 2025 India's working population will be
(1)  64.3%
(2) 68%
(G)  69%
4y 70.3%
¥ 2025 ﬁmﬁmsﬁaaﬁwﬁﬁ
(1) 64.3% ‘
2) 68%
() 69%
4 70.3%

53  When was Rao-Manmohan model of development introduced ?

(1) 1997 | 2) 1991
(3) 1988 | 4) 1996
TE-TFiE forere wisw wa @y fear w7
(1) 1997 (2) 1991
(3) 1988 | 4) 199
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if a commodity X is subject to an import duty of 25% advalorem. the
nominal tarift is

(1) 50% 2) 25%
(3)  12.3% 4) 2.5%
o X T U 25% TETET ST v St v @A S 3
(1) 50% 2) 25%
(3) 12.5% @) 2.5%

The shape of LM curve depends on

(1) The liquidity preference curve

(2) The position of the money supply
(3) Both (1) and (2)

(4) The amount of consumption demand
LM =% @ e o Feit ¥

(1) o@D 98< qh @) g afq @ Refy
(3) T (1) T (2) (4)  SUHCT W AT A
Q
)
£ R
Amount of >
money (M)

in the above figure the curve QR depicts
(1) Total demand for money

(2) Transaction demand for money

(3) Speculative demand for money

I None of the above

Q

R

a1 @ A (M) —>

erqéaﬁ%@ﬁmfoRaaaam%
(1) ¥&1 B o " (2) TR @ g A
(3) TS0 T W AT (4) Sudew @i TE
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None-legal tender money like cheques, bank drafts, hundies, bills of exchange

etc. are called

(1) Optional money (Z2) Near money
(3)  Cheap money (4) Liquid money

(1) ufws gur 2) wiw g
(3) =& ga . (4) Wﬂmv

asset portfolio of

(1} Less liquidity (2)  More liquidity

(3) Zero liquidity {4) Same liquidity
Gﬁmmwﬁmﬁaﬁﬁmﬁ%ﬁﬁwﬁﬁ?ﬁ%
(1) 9 dtmmn (2) oIfys qwar
(3) S a¥@En (4) A qE
Y S
g A

Al %
B _ 0 Q Supply

The above figure, elasticity of supply at A on the linear supply curve is

00 AQ
W B @ B
AB | BO
] 4 40
Y S
tg A
B 00 X
SR Taie ¥ A feg W YRew qfiema 3
00 AQ
M B @ B0
AB | BO
G %0 T}

A bank with a farger proportion of demand deposits have to maintain an 5
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60 The demand curve and cost [unction ol a monopolist are as follows
Demand curve X =50-0.5 &

Cost function 7 =350+ 40 X

5 Evaluate the output ai maximum profit
(1) 20 @) 15
5 Gy 25 - “) 18

qaiqmﬂ“mﬁmqﬁq&mmmﬁ%%ﬁ%

i A XN =50-057

AR (= 50+40 Y

e e e g R $
() 20 BN
(3) 25 @ B

61 If demand function is =16~ w2 and y=3 consumer surplus will be
(1y 20 : (2) I8
(3) 16 4y 12

f W aE 16— Y4 x=3 FqET B g B
(1) 20 ) 18

(3) 16 | @ 12

62 i total cost function is ’1‘.('.:12.1:2 +10x+4 find marginal cost ?

(1) 12x7+10 ) 24x>+10

(3)Y  24x+10 _ . (4) None of the above
o et AT W & 7= 1207 +10x+4 WAH T fremTieg

() 12x° +10 2)  24x*+10

(3)  24x+10 @) R W
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63  Slutsky Equation ig given by

. af i af.,' a ; . ’
)] 5!—=[5£'J i/ [3‘%‘1
Pi i Ju constant Y Pconstant

2 #3. . ! " ..
@) af)f o, ' /1 constant a}’ U constant

%; _(.91_) -, (ayJ
= | =
I \9g; u constant _aq‘.- p constant

(4) None of the above
e g3 e gan &

| %_z(ﬁi} 4 (?i}
D ) e e
2 . X {

@ 9 o - dy  fet

n-(2) _,[2)
(3) dp; | 9g 1 R "\ 9g; ﬁﬂw

(4) SugH #iE T

(3)

1 3
64 In a Cobb-Douglas preduction function if 06=Z and I3=Ethen returns to

scale .would be
(1)  Increasing _ (2) Decreasing
(3) Constant (4) None of the above

WIWWW—WﬁQﬁa=%@B=%ﬁa}HﬁWW
TaET B

(1) gks ™ () wEAR
@) R (4) - ST P T
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Leontief inverse is -

1y (-4y'd @
@ | @)
freiifees foreie ¥ |

| (1) (1-4)"'d - @)
(3) )

(1-4)"

None of the above

(1-4)"

The formula for measuring coefficient of mean deviation is

66
Mean deviation
() Mean 2)
. Mean deviation 4
G) Miedian )
—— U Gl
e fages
() i @
-~ @;——— 4
) )
67 Mean of binomial distribution is
(1} npq 2)
(3 np : G
froe Pr@R @ W ©
(1) npq (2)
(3) np - @
05/ ECONO3_A] 24

Mean deviation
Mode

All of the above
T faaer

s @l

»
q

None of the above

op
q

sww W T
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68  The Poisson distribution is giv'en‘bj.z
. ] e-ﬂfn? x : eﬁf’"x.
l A= . = -
M s n! @ - /() m!
e Mmx " m*
) Slx)=—r @ J(x)==Z
x! !
I R e fra oy ¥
M X ’ M
(0 Jlx)= m! @ 7= m!-
e—mmx emmx
B) Sfx)= = @ flx)= <
69  The probable error of the coefficient of correlation is
5 _
(1) PE=06745 127 @) P.E=O.6745[1—1)
I N
—_ ‘2 -
(3) P.E:O_SMS(]J}EJ (4) p,g=0‘5745[]__")

HEqaTY Uih H1 qHIe Ry 2

J @)
| e

(1) PE= 0.6745(

() PE= 0.5745[

05/ ECONO3_A|
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JN

1—:'2

Vv

25

PE= 0.6745[1:)

PE=05745( -2 |
&3

N

JN

JN

I—r
N
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{21’1% Z 1 4

100 is the f 1
EPO‘IO Z 0‘11] is the formula

s N

of index nos of

'(3) Marshall (4) None of the above

-_...I; ,‘\ ... .g.‘
5 oy Fsher (2) Dorbish and Bowley

.Pm {21)1% ————zlqllxloow' FYIE
: ADNX L Y. ha i

(1) TR : (2) Srafaw IS
() e (4) wrfE wE T

71 Which of the following represents comperiz. curve ?
M y=ab* | @ r{)=ac

@ v=pg” @ v=ax’

ﬁmﬁmﬁﬁ%—ﬁﬁ@waﬁmw%?
(1) y=ab® 2) Y(I)=aebea

(3) Y=qu”- .3 Y =ax®

72 The efficiency of an estimator depends upon
(1) Bias - (2) Variance
(3) Sample size (4) Mean
Toh A Bl A it ¥
() R @ ¥
(3) Fre e (4y ¥R
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73 Which test statistic can test the hypothesis for the difference between two 5
means ?
(1) Z test 2) S rest 5

| 2

(3) t test 4) X" test 5
1) ST &Y Wbt 9 3 R e w1 wiver st gaa feram sy
(1) Z3x 2) S= 5
3) tw 4y X e 5

74 Which of these is called variance ratio distribution %
(1} S distribution (2) Z distribution

P

(3) F distribution 4y X test

fore ! wevor egu faeor way amy &

(1) 8 faaoor - (2) 7 Taaror
() F Pragw @ e

75 The null hypoth_esis in the chi—squarel test states that
| (1)  Rows and columns in the table are associated
{(2)  Rows and cofumns in the table arc not associaied
(3) Both (1) and (2)
(4) None of the above
WS Tt ¥ g afimed wa B &
() Y@ T @ @ o e b
(2) @ T el @ gfier sty 3
() @ (1) T (2)
@) suder B @
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